6 UOoodoooood
6.1 0OO4O4

gbood K, 00Ooboooooobobbbbobiboon 480 K,0OD0OO
000000000000 00000(@MO0000000oooooooooon)

gl
N

0 48: K,

0000000000°GUO0O000000 K, 000000000000 0O
0 G000000000GoOO00000000000000D00D0nononon
gbogoobgoobooboouoobooguobbobobbooobbooo
goboodgbbodgub 9b0bgoouobooboboobboaobn
godgbobbobodbbobuoooubobodb n0oobboobO0o0oon
goboboooogon

) AN

G G Ks

0 49: 00O OO

gooobobod K, 0bobobo n0O0OD0DOOO0ODODOODOO

‘000000000000 K, 00DODOO0O00000000000000000

39



0000000000000000000000000000 {1,2,3,---,10}
00000000000{1,3,57,9) 00000 {2,4,6,8,10} 000
000

gogbbotodgobuobugouboooouooobuobood

6.2 UOOOOOOOODOO

gboboob K,0bododel0DbObODbOOOO0OOOOOODbDOOODOO
gobobood KeOUODOOOO 000000 KeODOOODODOOOOO
gogooboboobbbbon

g s0: 00uogooo

gobooodbd KeOODODDOOOOOODbOobOoboDbOobOOoDbobhOoo Kg
guobobooobbuabbbobbobobobbooobbooubooon
gboboooggboogobbobouoooboobobbbooobbobubo
gbobbod KegbOOobO oObhobOoboooooobobooooooooog
gbooguooooooobogbbbogbugdgoo

KeOOOOO 1000000000000 2% =32,7680000000

40



gouogboobbobubouogoboobboooooobbobboouoog
bbb uougoboooboooobobbobbbobobooooboboob

gboboboggbobobbbgbbbuobboougooboobboboboon
gboboboobobobobgob

0 K; 0000000000000 0o0o0oodooooooooooogo(@ood
000000000 000000000o0on)

U KeOUOooboooDbooooobbooobooboooooooboo

gobboobobbgobbbobodooooooobobobbooogan
goguobbouoogbooobogb

gbobbboobobdoobobuodgubbbooboooobboooobo

Doooooo]
6000000000000000030000000000000300000
0000000000000000000000000000600000000
020000000000000000000000000000000000
0000

googoboobobibodo

00000000000000000 2%=32,76800000000
gbobobbobobobboboobuoobbooooobboobg
goooodgdao

gogligouoguogboobobbobsuobobboouboooogasan
gobbgobogbbgbboosbboguuoooooooooooooooon
gooobobboboogobbobsbuguboogboobouoooooooooon
gslgggooobobobobobbbuobbbobooobboobbbbo sld
godbodoobououogbbouboogbobboobobobobbod



g osl: 0ougn

0000000000000000000 51000000000 (Ramsey®) O
ggboobobobobbododaobbo
godgubbobbbooouooouobobooboubbobobbobod
goobobdugouooooobooobobobuooboobobboboogod
gboooobooobgouooooobbbobobobtboobuoogouoooa
guogogboooobbbobooobbbboboooooooobbbod
gobobbooggboboobobobuooooboon
gogboobboubooboooobuoobdgbbooboobbobbboog
gbggbuogoooubobboooboboobbboooo

6.3 Ks00gouogn

K:; O0ogooooooooboboooggyd

0 52: K
0D000000000000000

200000000000002=2x2x20000 x200 53000000
ggobobuobobobdooboobo

gbobooooobbooobboboboooboobooobo

SRamsey 0 00 00D0D0DO0NTTOODOOODDODDOOODDODOO0OODOO0ODOOOOO0OO
gooobobooobooboooobooooobooobobooobOooobooboOoooooooDo
goboooooboboooooobobboboooboooooooooobon.

42






0000 13 K;0OOO0OODoOooo 27/300000000000000000
gbobbbobuoduboobbboobobouoobooboobobobbbo
gbogbobogbbobboooooboooboooboobn

O0dd 14 Ky, K5, Ke,---000ooooogo 2000000000000
guogoobooduobbbooobobooooouoobouooooo

0000300000000000000000000000000000O3%=27
gbobooogoooboonod

oodod 1 000Ks00b0bboobo00boobboooboooboogn
guooodgoooon

gboobbooooboogbobbbooobooobboobn

44



64 U0OO0OOOOO

gsMbbodebbbooobooobbobboboogoooobooobonbg
gobobobobogbobobuoooooobboooguobbbooboogaa

good 16 Duoboougbgboobboboobobobuoboooon
000000000000 0000DO@COoOO0ODOD00DODOODODDO0ODOODO0O00
00000000000 000o0ono)

U b54: 0de6ed

45



46



